



### Correction de fiche TD 3

#### Solution de L'exercice 1:

$$\int (2x^3 - 3x + 1)dx = \frac{2}{4}x^4 - \frac{3}{2}x^2 + x + c, c \in \mathbb{R}$$

$$\begin{aligned}\int (3x^2 + 4)^3 x dx &= \frac{1}{6} \int (3x^2 + 4)^3 (6x) dx = \frac{1}{6} \int (u(x))^3 \times u'(x) dx \quad \text{avec } u(x) = 3x^2 + 4 \\ &= \frac{1}{6} \left[ \frac{1}{4} (u(x))^4 \right] + c = \frac{1}{24} (3x^2 + 4)^4 + c.\end{aligned}$$

$\int \ln(1+x)dx = ?$  intégration par parties

$$\begin{cases} u(x) = \ln(1+x) \\ v'(x) = 1 \end{cases} \Rightarrow \begin{cases} u'(x) = \frac{1}{1+x} \\ v(x) = x \end{cases}$$

$$\begin{aligned}\int \ln(1+x)dx &= x \ln(1+x) - \int \frac{x}{1+x} dx \\ &= x \ln(1+x) - \int \frac{1+x-1}{1+x} dx \\ &= x \ln(1+x) - \int \left(1 - \frac{1}{1+x}\right) dx \\ &= x \ln(1+x) - x + \ln(1+x) + c \\ &= (1+x) \ln(1+x) - x + c, c \in \mathbb{R}.\end{aligned}$$

$$\int \frac{\sin(\ln x)}{x} dx, \text{ on pose } t = \ln x \Rightarrow \frac{dt}{dx} = \frac{1}{x} \Rightarrow dx = x dt.$$

$$\begin{aligned}\text{Alors } \int \frac{\sin(\ln x)}{x} dx &= \int \sin t dt = -\cos t + c \\ &= -\cos(\ln x) + c, \quad c \in \mathbb{R}.\end{aligned}$$

#### Solution de L'exercice 2:

1.  $A + B = \int e^{2x}(\cos^2 x + \sin^2 x)dx = \int e^{2x} dx = \frac{1}{2}e^{2x} + c_1$

2.  $A - B = \int e^{2x}(\cos^2 x - \sin^2 x)dx = \int e^{2x} \cos 2x dx$

$$\text{Posons } \begin{cases} u(x) = e^{2x} \\ v'(x) = \cos 2x \end{cases} \Rightarrow \begin{cases} u'(x) = 2e^{2x} \\ v(x) = \frac{1}{2} \sin 2x \end{cases}$$

$$A - B = u(x) \cdot v(x) - \int u'(x) \cdot v(x) dx = \frac{1}{2} e^{2x} \sin 2x - \underbrace{\int e^{2x} \sin 2x dx}_I \dots \dots \dots (*)$$

$$\text{Posons } \begin{cases} f(x) = e^{2x} \\ g'(x) = \sin 2x \end{cases} \Rightarrow \begin{cases} f'(x) = 2e^{2x} \\ g(x) = -\frac{1}{2} \cos 2x \end{cases}$$

$$\begin{aligned} I &= f(x) \cdot g(x) - \int f'(x) \cdot g(x) dx = -\frac{1}{2} e^{2x} \cos 2x + \int e^{2x} \cos 2x dx \\ &= -\frac{1}{2} e^{2x} \cos 2x + (A - B) \end{aligned}$$

en remplace dans (\*)

$$\begin{aligned} A - B &= \frac{1}{2} e^{2x} \sin 2x + \frac{1}{2} e^{2x} \cos 2x - (A - B) \Leftrightarrow A - B = \frac{1}{4} e^{2x} \sin 2x + \frac{1}{4} e^{2x} \cos 2x \\ &= \frac{1}{4} e^{2x} (\sin 2x + \cos 2x) + c_2 \end{aligned}$$

$$\mathbf{3. On a} \begin{cases} A + B = \frac{1}{2} e^{2x} + c_1 & \dots \dots \dots (1) \\ A - B = \frac{1}{4} e^{2x} (\sin 2x + \cos 2x) + c_2 & \dots \dots \dots (2) \end{cases}$$

$$\begin{aligned} (1) + (2) &\Leftrightarrow 2A = \frac{1}{2} e^{2x} + c_1 + \frac{1}{4} e^{2x} (\sin 2x + \cos 2x) + c_2 \\ &\Leftrightarrow 2A = \frac{1}{2} e^{2x} \left[ 1 + \frac{1}{2} \sin 2x + \frac{1}{2} \cos 2x \right] + c_1 + c_2, \quad c_1 \text{ et } c_2 \in \mathbb{R} \\ &\Leftrightarrow A = \frac{1}{4} e^{2x} \left[ \frac{1}{2} (2 + \sin 2x + \cos 2x) \right] + \frac{c_1 + c_2}{2} \\ &\Leftrightarrow A = \frac{1}{8} e^{2x} [2 + \sin 2x + \cos 2x] + c, \quad c = \frac{c_1 + c_2}{2} \in \mathbb{R}. \end{aligned}$$

$$\begin{aligned} (1) &\Rightarrow B = \frac{1}{2} e^{2x} + c_1 - A = \frac{1}{2} e^{2x} + c_1 - \frac{1}{8} e^{2x} [2 + \sin 2x + \cos 2x] - c \\ &B = \frac{1}{8} e^{2x} [4 - 2 - \sin 2x - \cos 2x] + c_1 - c \\ &B = \frac{1}{8} e^{2x} [2 - \sin 2x - \cos 2x] + c', \quad c' = \frac{c_1 - c_2}{2} \in \mathbb{R}. \end{aligned}$$